CHE-CHEDEE

(CHET—H]
H20 H21 H22 H23 H24 1
TEERIGNER (t/45) 38,630 36,702 36,102 36,157 37,147 36,948
(CHET—4]
T 205 E
X % 4R 6A 8H 108 12H 28 |EETY
# 41.00 39.69 57.87 54.76 55.34 41.92 48.4300
a - iEME T 21.63 15.53 13.64 16.69 20.17 19.64 17.8833
'ﬁ;}% M’ E-K 3.38 459 3.69 0.90 2.90 5.12 3.4300
N % e 1.04 497 5.87 8.18 1.27 7.10 4.7383
? _____ # SmmBlE 5.77 2.37 1.34 2.42 3.62 4.04 3.2600
/I< = M 5m T 7.56 5.87 1.45 2.50 4.16 5.20 4.4567
=z | HIR-BE 0.72 0.93 0.00 0.11 0.00 2.22 0.6633
~|® =B 1.40 1.05 1.03 2.48 1.29 1.31 1.4267
ﬁ’ gj"ax%vbﬁﬁ 17.50 25.00 15.03 11.77 11.25 13.40 15.6583
ty TL-RE 0.00 0.00 0.08 0.19 0.00 0.05 0.0533
& &t 100.00 10000 10000 10000  100.00  100.00 100.0000
HE FKEE K/ ke) 5,480 7,170 9,610 8,650 4,770 5,740 6903.3333
BRCAHHETERBE I /ke) 6,540 7,920 10,310 9,570 6,010 6,830 7863.3333
— Ko 61.99 55.22 44.34 47.41 65.06 62.04 56.0100
P AR5 3263 39.69 49.76 4565 29.74 33.85 38.5533
d x5 5.38 5.09 5.90 6.94 5.20 4.11 5.4367
TR FEE
X % 4R 6A 8H 108 12H 2R | EETY
R 58.26 39.06 4458 39.47 47.06 58.49 47.8200
a - HEME T 6.13 9.52 5.77 15.15 14.99 7.66 9.8700
'ﬁ;}% ’E-K 476 11.69 15.45 7.63 2.94 3.23 7.6167
N 0 e 15.08 4.60 7.27 8.12 455 2.81 7.0717
? _____ # SmmBlE 1.02 413 3.20 2.00 157 1.67 2.2650
/I< = M sam T 1.49 7.55 3.00 5.98 2.50 1.62 3.6900
=z | HIR-BE 4.92 0.75 0.14 0.99 0.00 1.03 1.3050
~|® =B 2.09 3.35 2.25 1.33 1.09 1.14 1.8750
ﬁ’ gjax%v’ﬁﬁ 6.23 19.24 18.14 19.27 25.30 21.93 18.3517
ty TL-RE 0.02 0.11 0.20 0.06 0.00 0.42 0.1350
& &t 100.00 10000 10000 10000  100.00  100.00 100.0000
HEFKEEKI/ ke) 9,970 6,590 10,290 7,490 6,610 11,360 8718.3333
BRCAHHETERBE I/ ke) 10,390 7460 10,690 8,420 7,560 11,470 9331.6667
— K5 38.81 55.78 41.32 52.60 57.69 34.15 46.7250
P AR5 50.75 37.05 52.53 40.89 37.37 56.67 45.8767
d x5 10.44 7.17 6.15 6.51 4.94 9.18 7.3983




T2

X % 4R 6A 8H 108 12RH 2R | EETY
# 51.40 47.02 39.88 4376 50.19 4775 46.6667
a - {EME T 16.00 9.64 15.71 8.10 4.60 7.79 10.3067
'ﬁ;}% M’ E-K 6.93 3.93 9.70 10.43 8.21 10.07 8.2117
N 0 M 3.69 5.67 5.04 13.78 2.35 11.77 7.0500
? _____ # SmmBlE 3.58 3.10 1.66 1.60 1.79 257 2.3833
/I< = M 5Sram T 6.18 2.13 1.56 1.25 2.18 2.28 2.5967
=z | & HIR-BE 1.09 1.80 0.00 0.07 0.00 0.16 0.5200
~|® =B 1.23 2.20 1.47 1.28 3.12 1.75 1.8417
ﬁ’ % TSRFVI%E 9.73 23.84 24.69 19.73 26.61 14.76 19.8933
) TL-RE 0.17 0.67 0.29 0.00 0.95 1.10 0.5300
& &t 100.00 10000 10000 10000  100.00  100.00 100.0000
HEFKEE K/ ke) 7,460 9,030 7,710 8,500 8,620 10,860 8696.6667
BRCAHHETERBE (I /ke) 8,080 9,540 8,390 9,110 9,240 11,070 9238.3333
— K5 53.72 4577 53.14 47.24 47.81 39.46 47.8567
P AR S 40.87 47.23 41.94 4491 4558 54.96 459150
i K5 5.41 7.00 4.92 7.85 6.61 5.58 6.2283

234 E

X % 4R 6H 8H 108 128 2R |&ERTH
# 45.20 4553 4554 43.01 71.43 46.68 49.5650
a - EME T 11.31 17.38 11.97 15.06 1.19 14.34 11.8750
'ﬁ;}% M’ E-K 11.41 6.60 8.11 7.19 1.59 6.81 6.9517
N 0 M 2.73 14.97 17.10 13.16 6.94 17.51 12.0683
? _____ # S5mmBlE 3.93 0.00 0.84 1.33 1.39 1.09 1.4300
/I< = M sm T 348 0.56 1.42 2.80 1.39 153 1.8633
=z | & HIR-BE 0.63 0.05 3.02 3.39 0.00 0.22 1.2183
~|” =B 1.47 1.98 1.67 1.28 0.00 0.49 1.1483
ﬁ’ % TSRFVI%E 19.63 11.54 10.33 12.75 16.07 11.06 13.5633
ty TL-RE 0.21 1.39 0.00 0.03 0.00 0.27 0.3167
& &t 10000 10000 10000 10000  100.00  100.00 100.0000
HEFKEBEKI/ ke) 8,740 8,630 8,000 7930 11,640 9,990 9155.0000
BBRCAHHETERBE (I /ke) 9,260 9,280 8,810 8,690 11,850 10,480 9728.3333
— K5 46.58 48.90 50.53 50.00 36.36 4412 46.0817
P AR S 45.98 4573 43.00 42,62 58.22 51.49 47.8400
i K5 7.44 5.37 6.47 7.38 5.42 4.39 6.0783




T4

X % 4R 6A 8H 108 12RH 2R | EETY
# 46.65 39.56 49.10 58.81 4757 48.47 48.3600
T - {EME T 10.90 14.35 18.62 15.84 413 13.82 12.9433
i% M’ E-K 433 6.21 2.40 10.20 7.28 9.28 6.6167
N 0 M 21.48 17.50 11.36 1.69 10.68 7.63 11.7233
? _____ # SmmBlE 0.87 0.74 1.59 1.56 7.28 0.53 2.0950
/I< = M 5ram T 2.08 3.30 2.38 2.10 2.43 1.64 2.3217
=z | & HIR-BE 1.06 1.22 0.93 0.38 0.00 3.40 1.1650
~|® =B 1.06 0.13 0.82 0.13 0.00 0.08 0.3700
ﬁ’ T FS5RFYHE 11.54 16.99 12.80 9.26 20.63 14.50 14.2867
’% JL-KRE 0.03 0.00 0.00 0.03 0.00 0.65 0.1183
& &t 100.00 10000 10000 10000  100.00  100.00 100.0000
HEFKEBEKI/ ke) 9070 10,450 6,260 7,230 8,080 8,820 8318.3333
BERCAHETERBE (I /ke) 9,590 10,880 7,500 8,330 9,080 9,580 9160.0000
— K5 46.04 40.93 58.38 55.69 53.34 48.12 50.4167
% AR5 47.45 53.22 35.83 40.02 43.69 46.52 44,4550
d x5 6.51 5.85 5.79 4.29 2.97 5.36 5.1283




